## JOHN D. HYNES & ASSOCIATES, INC.

32185 Beaver Run Drive Salisbury, Maryland 21804

410-546-6462 Fax:410-548-5346

Bill To

Federal ID# 52-1607888

ATTN: Michael Corbin

4459 Crisfield Highway Crisfield, Maryland 21817

Puffinburger Inc. dba Corbin Park



### Invoice

Date	Invoice No.
11/30/2022	39366

Proj	ect	Na	me.
1 1 01	···	1 1 a	mc.

Corbin Park Fuel Service Station Crisfield, Maryland

P.0	D. No.:	Те	rms	Due Date	Contact:	Phone No.	Proje	ect No.
		Ne	t 30	12/30/2022 Michael Corbin 410-968-1634		JDH-10	JDH-10-22/381	
Qty.	Units/Hrs	Item	Date	Description R				Amoun
1	LS	I.A.		Mobilization/Der	nobilization of Drill Rig and	Crew	350.00	350.00
8	each	I.B.	1	Environmental D	rill Crew with Geoprobe to I	Orill 8 Borings to GW	300.00	2,400.0
	1.		1	(est. 15 ft.)			300.00	2,100.0
10	hrs	I.C.	1	Environmental S	aff to Classify Soils, Screen	Soil Samples with PID	90.00	900.0
				and to Collect 10	Groundwater Samples			,00,0
8	each	I.D.		Environmental C	rew to Install and Abandon 8	Temporary wells and to	150.00	1,200.0
,	l. 1			establish surface	elevations			1,200,0
1	day	I.E.		Photo-ionization	detector (PID) Rental		75.00	75.0
4	each	I.F.		Pavement Patche			15.00	60.0
1	each	I.G.			ermit for 8 temporary wells)		270.00	270.0
1	each each	I.H.1		Estimate 2 Drums			65.00	65.0
4	hrs	I.H.3.		Drum Disposal (N	Von-hazardous)		350.00	350.0
8	each	I.I. II.A.		Environmental M			125.00	500.0
10	each	II.A. II.B.		Lab Analysis-TPI	H-GRO/DRO and VOCs (soi	1)	395.00	3,160.0
8	each			Lab Analysis-TPI	H-GRO/DRO and VOCs (wa	ter)	395.00	3,950.0
	each	II.C. II.D.		Terra Core Soil S			25.00	200.0
٠,۱	each	11.D.		Add/Deduct Lab.	Analysis-TPH-GRO/DRO ar	id VOCs per MDE	395.00	395.0
- 1	LS	II.E.		requirement				
		IV.A.		Sample Shipping		i	275.00	275.0
170.0		IV.B.		Environmental St	aff		90.00	900.0
		IV.C.		Project Manager	102		125.00	750.0
	LS	V. V.		Principal Manage Private Utility Lo	10113		160.00	320.0
		0.20		Filvate Othity Lo	cator 12/	<u> </u>	750.00	750.0
- 1					10	h		
1	ı			1	1 110			
1					11,140			
1					cator 12/01/22			
1		1			I ILI	Į.	1	

PLEASE RETURN COPY WITH REMITTANCE TO:P.O. BOX 1541 SALISBURY, MARYLAND 21802-1541

Total

\$16,870.00

www.johndhynesandassociatesinc.com

Payments/Credits

-\$0.00-

Finance Charge of 1.5% per Month Assessed on Balances over 30 days.

**Balance Due** 

\$16,870.00



Advantage Environmental Consultants, 8610 Washington Blvd, Suite 217 Jessup, MD 20794

## Invoice

Date	Invoice #
7/5/2022	36591

Bill To	
Corbin Park Attn: Michael Corbin 4459 Crisfield Highway Crisfield, MD 21817	

	P.	O. Number	Terms	Rep	Ship	Via		Project
-	-			SD-	7/5/2022			22-233
Quantity	_	Item Code	7	Description	n	Price Ea	ch	Amount
		Work Plan Event	CRISFIELD, MI NUMBER: 22-0 ACCORDANCE 22-0535R, PROJ	NTS AT 4459 CF 0 21817. PMG S 053950. WORK C WITH AEC PRO VIECT NUMBER C	RISFIELD HIGHWA ITE 6157, OCP CA COMPLETED IN OPOSAL NUMBER	SE .	600.00	600.00 3,400.00

7/18/202

**Total** \$4,000.00 Payments/Credits \$0.00 **Balance Due** \$4,000.00

Phone #	Fax#
(301) 776-0500	(301) 776-1123



Advantage Environmental Consultants, 8610 Washington Blvd, Suite 217 Jessup, MD 20794

# Invoice

Date	Invoice #
8/19/2022	36954

Bill To

Corbin Park
Attn: Michael Corbin
4459 Crisfield Highway
Crisfield, MD 21817

	Р	.O. Number	Terms	Rep	Ship	Via		Project
			X	SD-	8/19/2022			22-233
Quantity		Item Code		Description	1	Price Eac	h	Amount
	I 1	Receptor Survey Well Gauging	AND ONE MON AT CORBIN PAI CRISFIELD HIG 21817. OCP CAI COMPLETED IN PROPOSAL NUI NUMBER 22-23	THLY GAUGING RK - PMG SITE HWAY, CRISFII SE NO. 22-05395 ACCORDANC MBER 22-0535R 3.	ELD, MARYLAND 50. WORK E WITH AEC	1,4	900.00 350.00	1,400.00 850.00

Total \$2,250.00

Payments/Credits \$0.00

Balance Due \$2,250.00

Phone #	Fax#
(301) 776-0500	(301) 776-1123



# Proposal

(00)Reninote: Pork Oc. 81E Hy Montaville, NO 27500 Phone (200-238-7555) Sales Person (c) Mort Mount Phone No. 757-385-110 H. Nasanina displacetogroup core

No. QUO-0166973

Revision: 4

Date: 1/28/2022

SHIP TO: PMO NE \$1.57 OULF PARSIPILLING ONLY-USE C-2010 FOR SHIE BILLING

4459 QRISFIELD HVYY Craffold, MD 21817

Sold to:

PMG VARIOUS I
2000 Tolostar G
F545 Blurgi, VA 22042

Dispenser Ngt 10 Days
Terror \_(Initial Horo):

Dispenser Nat 10 Days
Terms:

Other Terms: Not 30 Days
Ship byta 10 Sarvice

Anount

PASSPORTSWUPGRADE PASSPORT SOFTWARE URGRADE FOR SAME STUND STUND STUND STUDDING SAME STANDIGUE FASSPORT SOFTWARE URGRADE FOR SAME STANDIGUE FASSPORT FIRST VALUE OF COMBOURGRADE STANDIGUES STANDIGUES

DESTRUCTEDATE		ATT THE YEAR	ONES PER ETTER	AND THE PROPERTY OF THE PARTY O
EV04091G1774	PER DECAU, FLEXPAY II, GRAY AND GRANGE	Section 4	\$10.50	\$49.00
PA04222000002B	ASSY, BROKZ WISECURITY BRACKET, WO USE SSOM NW INSTE		\$3.304 ng	\$3,284,62
F7/04190000 A 7/4/4/5	EDH8, V20.01 (V20.04	5 C. K.	\$2,476.00	12,476,00
BEDVICE TRAINING AV	STARTUR	NS TO ST	Manage A	
SERVICE JEOUR	TY RERECRIA SOFTWARE UPGRADE		81,050.00	91,050,00
SERVICE TECHT	ACITIVATU GAVVAT DISPUNSENS	(4)	\$300.00	\$300.00
SERVICE TECH	INSTALL BROME	100	\$750.00	\$750.00
SERVICEJECH	INSTALL DOM2		\$150.00	\$ 180,00
SERVICE TECH	INSTAUL PAYBAFE TO	341	\$300,00	\$300.00
SERVIORITECH	INSTALL EDH2		\$200.00	\$200.00
senvice tech	JNSTALL SSHO	1	\$125:00	\$125.00
14 He K 1 1 1 1		FO	HPMPHT.	8.598.80

SALES TAX:

Confldontint

#### *INVOICE*



Delmarva Petroleum Service, LLC Po.Box 71 Lincoln, DE 19960 Office@DPS.email

INVOICE TO
Puffinburger, Inc.
D/B/A Corbin Park
4459 Crisfield Highway,
Unit A
Crisfield, MD 21817-2569

SERVICE LOCATION Corbin Park 4459 Crisfleld Highway, Unit A Crisfield, MD 21817-2569 INVOICE NO. 12970 DATE 06/17/2022 TERMS Net 30 PO #

DATE

ACTIVITY

QTY RATE AMOUNT

Service:Proposal

1 7,654.14 7,654.14

Quote# TW052422A - new splil containment on the non-ethanol tank, new

coaxial drop tubes on the gasoline tanks

JOB DESCRIPTION

Delmarva Petroleum Service saw cut, broke out, and replaced the spill containment on the non-ethanol tank w/a new OPW 5-gallon slip on bucket. The excavated area was backfilled & concrete re-poured. The overfill coaxial drop tubes were replaced in both gasoline tanks. Dispenser #1/2 was isolated from the catholically protected flex connectors. All functioning properly at this time.

SUBTOTAL

TAX

SHIPPING

TOTAL

**DEPOSIT** 

**BALANCE DUE** 

7,654.14

\$7,654.14

7/13/-52/ CX4672/

#### **INVOICE**



Delmarva Petroleum Service, LLC Po.Box 71 Lincoln, DE 19960 Office@DPS.email

INVOICE TO Puffinburger, Inc. D/B/A Corbin Park 26841 Roland Tyler Road Crisfield, MD 21817-2128

SERVICE LOCATION Corbin Park 26841 Roland Tyler Road Crisfleld, MD 21817-2128

INVOICE NO. 13280 DATE 08/19/2022 TERMS Net 30 PO #

DATE	ACTIVITY		QTY	RATE	AMOUN.
	Labor:SERVICE LABOR 8/18/2022 - 2 Men @ 4 hours each		8	75.00	600.00
	Mlleage:MILEAGE		74	1.05	77.7(
Miscellaneous:MISCELLANEOUS PARTS #ANO05HP Anode			1	160.20	160,207
JOB DESCRIPT	ION	SUBTOTAL			837.90
uisperiser #1/2 ar	um Service installed a new anode under ad retested the cathodic protection. All	TAX			9.61
functioning properly at this time. Also ground down the regular spill containment lid.		SHIPPING			0.01
		TOTAL			847.51
		DEPOSIT			
		BALANCE DUE		C	\$847.51

9/2/22 Cl/H 6118

### INVOICE



Delmarva Petroleum Service, LLC Po.Box 71 Lincoln, DE 19960 Office@DPS.email

INVOICE TO
Puffinburger, Inc.
D/B/A Corbin Park
4459 Crisfield Highway,
Unit A
Crisfield, MD 21817-2569

SERVICE LOCATION Corbin Park 4459 Crisfield Highway, Unit A Crisfield, MD 21817-2569 INVOICE NO. 12925 DATE 06/09/2022 TERMS Net 30 PO #

DATE	ACTIVITY	QTY	RATE	AMOUN
	Testing:Line & Leak Detector Test	3	95.00	285.0
	Testing:Spill Containment Test	3	65.00	195.0
	Testing:ATG Certification - 6 or less probes/sensors	1	325.00	325.0
	Testing:Cathodic Protection Test	1	325.00	325.0
	Testing:Overfill Prevention Equipment Test	3	75.00	225.0
	Testing:Tank Test Multiple Tanks	3	375.00	1,125.0

JOB DESCRIPTION

Delmarva Petroleum Service completed the annual compliance testing for 2022 as requested.

SUBTOTAL

TAX

SHIPPING

TOTAL

**DEPOSIT** 

**BALANCE DUE** 

2,480.0

\$2,480.0

C/H0/2/22

THANK YOU FOR YOUR BUSINESS!